[ Efficiency vs vertpos |
~ 0.05

YT SRS R S— -

e F ; : :
>\0.04:_"""""; """""" :' """"" E""
(8] F . . .
$.035F oo RPN
[3) E : :
50,03t R
0.025F-----eesieeeeeeee RPN

0.02F-
0.015
0.01
0.005

th

1.0

S

Ratio
N
EEESS EE S S LR L IR RRRLE
4
-

0.95

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__CMSSW_orig
Efficiend —— pom_v0001_R000000001__Global__mkFitALLCHA__RECO

N 0.
20.09 . . . . .
1) . . . . .
Z 0.08fH------ AR R i [ R
> : : : : :
2 : : : : :
A 11 AR A S R
B : : : :
£ 0.06[{--fr-emrieeeeeee A o
o : : : : :
0.05f - oo p-eeierneees TR || I
0.04f3 1171
0.0afl | g ]
I ALNPRE T B T
0.01---H4 ff-- + I el +++
1 [Tt ot

;.\,O""'"""""""""'i""

...............................

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> E E E E
00.045F -+ preyees AR :
S : : : :
T
2.035F -+ SRR IRRERERE :
P b : : : :
€ 0.03F------- A Fereee :
o : : : :
i AR SR
9} : : : :
O S SRt SR K]
YT SUER JOORR USROS MO {

oo g |

0.005

1.0

Ratio

T

=== eSS AR

2100 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


